Question Answer Marks | AOs Guidance
8 0] EITHER AG
8sin” xcos” x = 2(1- cos 2x)(1+cos 2x) M1 3.1a | Using a double angle formula
= 2(1— cos® ZX) =2—(1+cos4x) M1 3.1a | Second use of a double angle
El 2.1 | Clearly shown
[3]

(i) OR Allow any other valid
8sin? xcos2 x = 2(2sin xcos x)2 M1 Using a double angle formula sequence of identities used.
= 2sin’ 2x M1 Another use of a double angle
[=1-cos2(2x)] =1-cos4x formula

El Clearly shown
[3]

0] OR
1—cos4x:1—(1—25in22x) M1 Using a double angle formula
=2sin?2x
=2(Zsinxcosx)2 M1 Another use of a double angle

., ) formula
=8sin“ xcos“ X El Clearly shown
2 both
ii . 1 M1 1.1a | Attempt to integrate both terms
() jsmzxcoszxdx:—jl—cos4x dx 1 P J
8 Al 1.1b Zsin 4x seen or implied
1L Al | 11b -
=—X——sin4x+c : All correct. Must include +c
8 32 [3]




